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DPP - 7 (Basic Maths)
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Find [ x dx =?
2
@>+cC (b) x2 + C ) x2+x+C dc
Find [ ~dx =?
2
@ +C () +C
©Inx+cC (d) None ofthese
Find [(4x? + 1)dx =?
@x*+x+C (b) 2+ 2 C
(c)8x+C (d) None of these

Find f 33X dx, =7

(@)3e3* %+ C (b)e3* +.¢€
4x
(=—+C (d) None of these

Find f (e342)dx =2

(@) e* +In2x+C (b)?+21n2x+€
(c)e* +2Inx+C (d) None of these

If y = 3x + 1)3, thenfind I = [y dx?

4 4
(a) [ = (3x+1) +C (b) (3x+1) ny,
4 . 12
©)1= (3x;1) +C (d) None of these

If y = sinx + cosx, thenfind I = [y dx?

@I =—-cosx—sinx+c (b) I = cosx —sinx +c¢
(c)I =—cosx+sinx +c (d) None of these
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Q 10.

Q11.
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Find [ = [ — dx?

—_ 1 -1
@1= ST cC (b)I—2x2+c
©I= xiz+ c (d) None of these

FindI = [(e* + cosx) dx?
@I =e*—sinx+c (b)I =e*+sinx+c
(c)I =e*—cosx+c (d) None of these

FindI = [(4x3 +3x% + 2x + 1) dx?
@I=12x*+6x3+2x*+x+c
(b)I=§x4+§x3+2x2+x+c
©I=x*+x3+x>+x+c

(d) None of these

Find I = [(6¥x + 5Vx?)dx?
(a)1=5xg+3x§+c
(b)1=x§+x§+c
(c)1=6x§+5x;+c

(d) Nonge ofthese

Find1 = [(3x% 4+ e* + sin & + 2). dx?
(@)1 = 3x3 + e* + cosx(+ 2x +¢
(b)1 = x3 + e* <cosx ¥ 2x+<¢

(©) I =x3 +e*+cosx+2x + ¢

(d) None of these
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Answer Key

Q1 a

Q2 ¢

03 b

Q4 b

Q5 ¢

Q6 b

Q7 ¢

Q8 a

Q9 b

Q.10 c

Q.11 a

Q.12 b
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